™ -
&

1. If 3 is the root of the equag':ion
x? -8x+k =0, then what is ithe
value of k? I

(@)’ -15 |
(b} 9 -
(c). 15

(d) 24 |

2, Two straight lines x~-3y-2 = 0I and

2x-6by-6=90 |

i
(a) never intersect [

|
(b) intersect at a single point

l

fc)] intersect at infinite nurnl;"er of
peoints |
I

{d) intersect at more thanI one

point (but finite number of
points) I

3. If (@, 0), (O, b), (1, 1) are collinear,
what is {a + b - ab) equal to?

fa) 2 !
(b) 1 |

{c) O |

(d) -1

P-AQNA-L~-ZNGU /66A I

4, If ' '

JRER ‘ 4 gl

“lo 4 39,70 2|
then which of the following is/are
correct?

1. AB is defined
2. BA is defined
3. AB=BA .

Select the correct answer using the
code given below :

Code :

{a) 1 only

(b) 2 only

{c/ 1 and 2 only

{d 1,2 and 3

5. Using the digits 1, 2, 3, 4 and 5 only
once, how many numbers greater
than 41000 can be formed?

{a}] 41
(b) 48
{c) 50

{(d) 55

6. If an angle o is divided into two parts
A and B such that A- B=x and
tanA:tanB=2:1, then what is
sinx equal to?

{a) 3sina
(b) (2sinc)/3
(¢} (sino)/3

{d} 2sino

*




.

1. g gt x2 - 8x+k =0 H T qd
3%, @ ko T WA F41 27

(@) -15
(b) 9
(c)

d 24

2.9 WA wn x-3y-2=0 3k

2x - 6y-6=0

(@) ¥ wfowadt 7€ &

(b) %ﬁamuﬁﬁ%

(c) ¥a aer famgelt | wfosddt &

(d) & ¥ Ifuw (g wa we)
fargait W i &

3. IR (a, 0), (0, b), (1,/1) Wdt ¥, @
(@+ b~ ab) 1 WH T 87

(a) 2

(b) 1
(c) ©

d -1

P-AQNA-L-ZNGU/66A

4. af l T
11
A=[gr] o 2- [o ]
aﬁﬂﬁ‘fﬁaaﬁaa%q-m/ﬁaﬁ%/%?
1. Asqﬂmﬁa% 1\, o
2.  BA dfnfyd 3 Vo
3. AB=BA :

ﬂéﬁ?‘inﬁwﬁmﬁaﬁm

%2 i_
(@) FFd 1 1"
(b) Faa 2 1|
fe) Fae 12 :
(d) 1,23R3 \

|

5. & 1, 2, 3, 43&5%%@3{1{
mu‘rrram%rgqﬂoooéaﬁrw
TS S S gt 87 1 :
(a) '
(b}
(c)
(d)

41
48
50
55

6. afe B 0 o T 9N A a1 BH IH THN
fafom fFn s 2 &5 A-B= ixea"lt
tanA:tanB=2:1, d sinx ,ﬁuﬁ
qE 27 ! '
(a) 3sino {

(b) {(2sina)/3
(c) (sina}/3
{d} 2sinc

3 [P.T.O.




7. A man standing on the bank of a ,' 10. The vector a lies in the plane of 0
river observes that the angle of ' B

elevation of the top of a tree just on
the opposite bank is 60°. The angle
of elevation is 30° from a point at a
distance y metres from the bank.
What is the height of the tree?

vectors b and ¢. Which one of the b
following is correct ?

(@ 3 (bx2)=0

() @-(bx3)=1
(a) y metres
() @-(bx2)=-1
(b) 2y metres
,' (@) d-(bx3)=3
fc) _{:23_2 metres . M
y . 11. What is the projection of the vector .
(@) 5 metres ' i =27+ k on the vector 4{ -4 + 7k ?
' (a) 35
8. If P, Q, R are three non-collinear 2
points, then what is PQAPR
equal to? .' (b) %9_
(@) Null set '
| V5 .
() (P} © &
¢c) {P, QR 11
) (P, Q R) @ U
(d) {Q R}

12. Which one of the following

9. A, B, C, D and E are coplanar points- statements is correct ?

and three of them lie in a straight

line. What is the maximum number (a) sin? 30, sin? 45°, sin? 60° are
of triangles that can be drawn with in GP
these points as their vertices? , *

,' (b} cos? 30°, cos? 45°, cos? 60° are
fa 35 ' in GP

! +
(b) 9 (c) cot? 30°, cot? 45°, cot? 60° are

in AP
{c) 10
(d) tan? 30°, tan? 45°, tan”? 60° are b
(d) 12 in GP
P-AQNA-L-ZNGU/66A _' 4




A

@ 7 I F R a o e e @ 10. afRw & v @ ¥ § Rl b 2
- 3% @ fFm W F ™ w© F WA

frefafea 4 @ S o /@ 27
IA-FO 60° 71 TR @ y i R gh o
W TF g @ SFEA-H 30° B U A fa) d-(bx¢)=0
S=d T 87
(b) @-(bx?)=
(@ y¥HR
() @-(bx?)=-1 |
(b) 2y ¥R :
. [d) d-(bx2)=3 "_
| [ G .
1. m2_23+£m,m4f~4}+7km
' (@) - e w89 w1 87 ’.:
@ 3 1
8. 7R P, O R dn omh fg %, @ 1 |
PO N PR |E &1 87 () ) i
(a) T wE=A g }:
(b) {P} |
11 |

d) O R} ‘ | "

12. frafafes § 2 39-w1 o & w8 87 |
9. A, B, C, D 3R E uwaeia farg & 3R ' |

I ¥ I 1 o T W %I.?z';l ﬁ%&iﬁ {a) sin? 30°, sinZ 45°, sin? 60‘;’,
1 1M s R e Bye diR GPH % |
T HEHA 87 (b) cos? 30°, cos?45°, cos? 60‘1\{,
@ S GPH % :.
2 2 g0 2 o
o ¢) cot”30°, cot®45°, cot” 60 ‘
) AP § . ‘
10 :
i E (d) tan?30°, tan?45°, tan®60°, |
(d) 12 GPH % :
P-AQNA-L-ZNGU/66A ' 5




13. If sum of squares of the roots of the
equation x2+kx-b=0is 2b, what
is k equal to? .

fa) 1
(b} b
{c) -b ,'

(@ 0O .I

14. If one root of the equation
ax? +bx+c=0, a#0 is reciprocal
of the other root, then which one'of
the following is correct ? ‘

{a) a=c ’
{b) b=c

(c) a=-c

(d) b=0 o

15. If w is the imaginary cube root of
unity, then what is (2—w+2m2)27

equal to?

fa) 3*7w
(b) -327 @2
) 327

(d) -327

P-AQNA-L-ZNGU/66A

16. What is the modulus of

11,
143 1-3i
@ <
o =
{c] %
@ 2

17. Let M be the set of men and Ris a
relation ‘s son of defined on M.
Then R is
(a) an equivalence relation
(b) a symmetric relation only

(c) a transitive relation only

{d} None of the above

18. What is the locus of the point
which is at a distance 8 units to the
left of yaxis?

(a) x=8




& 13. R wfteor x2 +kx-b=0 ¥ WHl ¥ 16. ! __%mmw%? o
1+3i 1-3i .

it AT 2D B, W kB HH T QT

3
(@) 1 @ 3
(b} b I
O
fc) -b |
3 .
@ o @ 55 |
|
> e
(d) 3 |

14. I @wiew ax? +bx+c=0, a#0 &l \
W g g Y ogoRd §, @t :
' |

fafafgs # @ F9-w1 w T 27 .
17. m?ﬁﬁmﬁsMngseﬁwagau%aﬁi;R
(@ a=c T @=FY H g R M W aRaia R
@@ R |
(b) b=c '
' (a) T& goadl Y 2 f
(c) a=-c f
' (b) A T GEAG WY @ J
- (
(d) b=0 (c) I TH HhTISh THI-Y @ :
(d) 37w % | w7
15. IR @ * FEAFE T o 8, @ !
2 - o+202)%7 F 97 @ 37 . ’
18. y-31a A = 8 3o T W fawmm fag %
foreguy = 87 o
@ 3% w :
fa) x=8 ||
(b} _327(02 ,
(b) y=8 }
(c) 327 (¢} x=-8
(d) -327 (d) y=-8 !

P-AQNA-L-ZNGU/66A




19. The number 10101111 in binary 22. If A, B, C are non-empty sets such ‘ ‘

system is represented in decimal that ANC=®, then what is
system by which one of the (Ax Byn(Cx B) equal to?
following numbers? '
. (a) AxC
fa) 157
(b) AxB
(b) 175
(c/) BxC
c) 571
( (d) @
(d) 751
23. If A={4n+2|nis a natural number} .
20. There are 4 letters and 4 directed a;z dB=h{13n.| n;s agaturalln;.m;ber},
envelopes. These 4 letters are ran- then what is (AN B) equal to*
domly inserted into the 4 envelopes. 2 . '
a
What is the probability that the (@) {12n*+6nin is a natural
letters are inserted into the number }

corresponding envelopes? _
(b) {24n-12|n is a natural

(@ 11/12 ' _ number}

(b) 23/24 f¢j {60n+30|jn is a natural .
' number}

@ 172 (d} {12n-6|n is a natural

{d) None of the above number}

.. | 24. If the matrix
21. The average daily income of workers

of a factory including that of the a B
owner is ¥ 110. However, if the A=[ ]
income of the owner is excluded, B a
the average daily income of the

remaining 9 workers is ¥ 76. What is such that A% = J, then which one

is the daily income of the owner? of the following is correct? '
(a) € 300 C (@ o«=0B=lora=1B=0

(b) ¥ 316 ' () a=0,B#lora+0p=1

{¢) ¥ 322 .. ¢/ a=1L,PB#0ora=1,p=0

(d) € 416 - (d a#0 +0 _

P-AQNA-L-ZNGU/66A 8




f.' 19, fR-amurd wgfa A d=n 10101111,

e Tgia & feafiRaa densit # @
fre w & g frefia @t 37

(@) 157
(b) 175
() 571

(d) 751

20. 4 EEMM4 Rl e 2134

4 foreet 1 afErwan s B3 sm 2
Tt T Wik @ fF 3 o3 ga ferwret
¥ et 7

(@) 11/12
(b} 23/24
(c) 1/24

(d) 3G F @ B 7

21, fFdft et & wdafEt i a1,

wiferes S WS R g, I
? 110 2| g 3R mfes &t s =1 7
Wi R, @ T g 9 =@ R
dfma am v € 76 B wifers
USTHT 31 F7 B?

(a} € 300
(b) € 316;
(c) ¥ 322

(d) T 416

P-AQNA-L-ZNGU/66A

22, uf Jfh @g=A A, B, cf{@r%%a

AnC=®, @ (AxB)m{CxB) F AR
W%? !

@@ AxC

(b)) AxB |

(¢ BxC '.

@ o |

23. IR A={4n+2|nTH mqyfm%}aﬁt

B={3n|n T wA HE g, @
(A~ B) fras swm 37 ';

|
{a) {12n2+6n|n%q:f‘{f'fm%}
(b) {24n-12|n qmmrqy‘faw%}
(c) {60n+30|n @urrqyim%}

(d) {12n-6|n @m@m%}

24. Ife TR i

S

o ¥ 6 A2=, @ Prefafen § @
HT-91 T G 27 -_

{a) a=0,p=13Y =1 B=0
i

(b) 0=0B#13T a0, p=1

(c) a=1,B=03MMoa=1 =0
}

(d) a0 p=0 1

|
[P, T.O.




25. What is the sum of the focal
distances of a point of an ellipse

2 2

X y _
-a?'l'g—-—l?
(a) a
{(b) b
(c) 2a
{d} 2b

26. What is the degree of the following
differential equation?

2
3.\3 2
4y 4 3978, 5y
dx 3 dx? dx

(a) 1
(b) 2
{c} 3

(@ 4

27. What is the sum of

JS_+%+-§\1’—§-+--- ?
(@) —?-
(b) %@
(c) 2—?
(d) 3

P-AQNA-L-ZNGU/66A

28. What does the differential equation ‘ )

dy
—_— 4 =3a
ydx X

(where a is a constant) represent?

(a} A set of circles having centre
on the yaxis

(b} A set of circles having centre
on the x-axis

[c) A set of ellipses

(d] A pair of straight lines

a 0 dB—lO
11| “l2 1

29. If

A

L}

such that A2 = B, then what is the
value of o ?

(a) -1
(b} 1
fc) 2

(d) 4

30. What is the wvalue of n, if
P(15, n-1): P(16, n-2)=3:47?

(a)
(b)
(c)
(d)

10

12

14

15




(b)

(c)

(d) 3

P-AQNA-L-ZNGU/66A
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28, 3TFE THE i

dy
—+x=a [
Yiax

(aﬁa@w%)mﬁﬁﬁaa%{m%?

@) y-IE W FR A G O
o=

(b) x-3NF W FHZE dq™ Eﬁ’i\aﬂlfﬁ
L= |

(c) gl T T FgI
(d) O T F T I

fe) 2

(d) 4

30. AR P(15, n-1): P(16,n-2)=3:4,
W n FH A FR? 1

(@) 10 '.
i
() 12 |

{c) 14

(d) 15 |




31. What is the value of the determinant 33. The largest value of .

x+1 x+2 x+4 2x3_3x2_12x+5
x+3 x+5 x+8|7?

D<x<
X+7 x+10 x+14 for -2 < x €2 occurs when

{a) x=-2
!
fa) x+2 (b) x=-1
' (c) x=2
(b} x2+2 l (d) x=0
' 34. What is
{C) 2 J'It dx
, _
014+2sin? x ,
(dj -2 ' equal to?
fa) =
. o (b) =
32. Consider the following statements in 3
respect of the function ’
© 7
flg=x3-1, xe[-1, 1] :
2n
(d) —
1. f(x) is increasing in [-1, 1] ' V3

2. ha tin{-1, 1
f1x} has no root in { ) 35. If 5 and 7 are the roots of the

equation
Which of the statements giverl x 4 5
i ?
above is/are correct: ' 7 x 7l=0
5 8 x
! -
(a) 1 only then what is the third root?
!
(b) 2 only (a) -12 .
{b) 9
{c) Both 1 and 2
| {c) 13
(d} Neither 1 nor 2 (d) 14

P-AQNA-L~-ZNGU/66A 12




i
'.‘
|
I
|

33. :2<x<2 % f’e—\qzx3~3x2'|—1'2x+5
mﬁmmw@m%,m‘

’ . 31. R
- x+1 x+2 x+4
x+3 x+5 x+8

x+7 x+10 x+14 (@) x=-2 E
() x=-1 !
1 W T 87 "
fc)] x=2 |
fa) x+2 d x=0 t
.
2,9 N B - ST Y
O x=+ 34 '[01+251n2x '.l
|
) ' (@) = ;
“ |
n !
w2
(d) -2 o
T !
(c) 7—3‘ '.
2n I|
d) —= :
32. ¥ f(x)=x3 -1, xe[-1, 1] & frm V3 |
% faffas st w famm it v
1. f(x), (-1, 1) 3 adfam &y a5, o | '
: 7 x 7|=0 .
I wYEl § ¥ FE-w/2 Tl 3/80 5 8 x '_
(a) HaA 1 ¥ e 5 ot 7 &, @ fww @ = 20
(b) Fa@ 2 (@) -12 J=
b) 9 l.
(c) 132t
[c) 13
(@ @1 mAE2 (d) 14

P-AQNA-L-ZNGU/66A 13 [P.T.O.




36. In a GP of positive terms, any term
is equal to one-third of the sum
of next two terms. What is the
common ratio of the GP?

V13 +1
2

(a)

J13-1

(b) )

Ji3+1
3

(c)

(d) J13

37. If (1+tan8)(1+ tang) =2, then what

is (6 + 9) equal to?
{a) 30°
(b)

(c] 60°

45°

{d)

]

38. If f(x) is an even function, then'
- what is '

Jof[cosx)dx '

equal to? '

{faj O

(b) jg flcos x)dx

(c) zjj flcos x)dx ,

(@ 1 .

P-AQNA-L-ZNGU/66A

90° '

14

39. What is the value of k for which thegg
system of equations kx +2y = 5 and
3x +y =1 has no solution?

(@ 0
(b) 3
© 6
d 15

40. In how many ways can 6 girls be

seated in 2 empty chairs?
{a) 10
(b) 15
(c) 24
(d) 30

41. What is the value of

9 27 3 5
10g10 E —logm ':'3—2- +10g10 Z !

(@) 3
(b) 2
€ 1
(d) 0O

42. Which term of the series

Leb

is -128?

(@) 9th

(b} 10th |
(c) 11th |
(d) 12th -




R &l % I w1 - ®1 GP # @d
e RIGIE B

Ji3+1
2

. 36. YA Ui dl TF GP # @8 ot w2 T

(a)

J13 -1

(b) 5

‘:l
[
+
[

(c)

w

a

(d)

37. A (1+tan6){1+tang@)=2, dl (8 + @)
Terarss st R7

(a) 30°
(b) 45°
(c) 60°
(@) 90°

38. 4R f(x) T TH BeF g,
j;‘ flcos x)dx

foross w87

(ag 0O

ut
®) | 2 flcosx)dx

{c) QIE flcos x)dx

@ 1

P-AQNA-L~-ZNGU/66A
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39. k %1 9% 9H @1 g, s fau afeim-
I
i@ kx+2y=5 M 3x+y=1!F

1 g 7E 27

(@} 0O
(b} 3
(c) 6
(d) 15

40. 6 TefHat 2 Gl FhiE w fFaft o
¥ fergrn < g 27

(a)
(b)
(c]
(d)

41. loglo(g] — loglo(

10
15
24
30

WA I 27

(a)
(b)
(c)
(d)

(d

3

32

27
)+log10[

)

[PIT.O.




43. What is the number of ordered pairs 46. What is the middle term in the'
of non-zero positive integers (x} y expansion of

such that x+ y<4?

(-3)

(@) 4
4
(b) 5 @ 35
8
(c/ 6
17x°
\ (b)
(d} 8 8
i 35x°
44, In the binary system of numbers (c) 3

let a=00111 and b=01110, then

in decimal system what is b'/ a

equal to?
fa) 1
(b} 2
c} 4
(d} 5
45. If
bia+bic=é+é

then a, b, ¢ are in

(a} AP

(b) GP

(c) HP

{d) None of the above

P-AQNA-L-ZNGU/66A

{d) None of the above

47. What is the sum of the roots of the
equation

2-v3)x2 -(7-43)x +(2+/3)=07?
(@) 2-3
(b) 2+3
(c) 7-4J3

(@) 4

48. What is the total number of
combinations of n different things
taken 1,2, 3, ..., n at a time?

t {a) 2n+1
i {b) 22n+1
(C) 2n-1

(d) 2" -1

i 16




LR
» s YRR EACEE PE F B FH (x, Y

$) T T g Al x + y <4 7
(a) 4
) S
{c) 6

(d) 8

44, fg-amudl vefy $ genati % um it &
a=00111 3R b=01110, A T¥HTA
Tgfa # b /o Frwh TUR 77

fa) 1
(b) 2
e 4

(d) 5

45,

1 1
—+
b-a b-c

+

SRES
O jr=

@a b
(a) AP E
() GPHE
() HPHE

(d) 3 H A FE T
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46. [

47. i
2-3)x? —(7T-4/3)x+2+/3)=0

8 i
1-%] FReminmawang? |

35x* .
8 | i

(@)

s
(b) 17x

35x°

(© 3

(d) IE & A F T

1
% Tl o A R7
(@ 2-J3 |
(b) 2+3

() 7-4J3 _ |

(d) 4

48, nfimagxi# 1, 2, 3, ..., nqmanﬁ
A H=E! Pl HEA F1 R7

(a} 2n+1
(b) 22n+1
(C) 2n-1

(dy 2™ -1 |




49. One of the roots of the quadratic 52. The points with position vectors ‘
equation ax? +bx+c=0, a#0 is T

positive and the other root is 100 +3j, 12(-5], ai+11j |
negative. The condition for this to
happen is are collinear, if the value of a is |
{ag a>0,b>0,¢c>0 (@) -8 ‘
(b) a>0,b<0,¢c>0 (b) 4
fc) a<0, b>0,¢c<0 {c/ 8 ‘
(d) a<0,¢c>0 (d 12 .
50. If the solution of the differential 53. What is t'l}e sine of angle between the
equation vectorst +2j+3kand -1 +2j+ 3k ? ’
dy _ax+3 (@) ‘1_3_
dx 2y+ f 7
represents a circle, then what is the (b) J13
value of a ? | 7 .
13
(@ 2 c) —=
(c) 7
(b) 1
(d) None of the above
(c) -2
@ -1 54, If

f sin(sin_l é +cos™! x) =1
51. IfA, B, Carein APand b: c= V3 : /3,

then what is the value of sinC? then what is x equal to?

(@) 1 (@) © :
(b) —J% (b) 1
4
© V3 © 3
1 1 )
@ 2 @ 2

P-AQNA-L-ZNGU/66A 18




o

1

L ’.
9 49, g gflEm ax? +bx+c=0, a# 0 W 52. &y wfewi 100 + 35, 12{ -5, ai +11]
: T I T B TR O RO | W F g R g, R aF A A |
M F e v witera 7 !
{a) -8 »'I
(aj a>0,b>0,¢c>0 b 4 '
(b) a>0,b<0, c>0 © 8 |
fc) a<0,b>0, ¢<0 d 12 | '
{d a<0,¢c>0 .'
| 53, wRwl i+2j+3k o -i+2j+3k ¥
&= % FIU T sine T 87 '
50. IR FaHe THE |
dy _ax+3 (@) 13 (o
dx 2y+f ' 7 ll ..
%1 g G 9a i e[ a1 3, 9 a # Ji3 ‘I .
A 41 27 (b) —= .
o
.
(@) 2 13 \
€ — : L
(b) 1 V7 '
() -2 (d) 3% # | B T |
1
(@) -1 ‘
54, afk |
. ) 1 _ |
51. AR A, B, CEAPH 3l b:c=V3:/2, Sln(sm lg”’i’s 1")=1 |
@A sinC @1 T F1 87
| it x & WA T 87 4{
o) 1 ' |
fa) O ‘
) - o
73 (b) 1 ',
|
4 o
() V3 ) 3 '.
1 1 Lo
d) — il |
i @3 |
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55. What is

log(a+w}a2 + 1)+log[——-——1—]
a+va®+1) '

equal to?

(@ 1

(b) O ,
(c) 2

(d)

r

56. 5 books are to be chosen from a lot

of 10 books. If m is the number bf
ways of choice when one specified
book is always included and n is the
number of ways of choice when'a
specified book is always excludeFd,
then which one of the following is
correct? '

fa) m>n '
b) m=n
{cf m=n-1

({d m=n-2

§7. Which one of the following ' is

correct in respect of the function
fl) =|xj+ x??

{a) f(x)is not continuous at x = 0
(b) f(x) is differentiable at x ='0

{c) f(x) is continuous but 'not
differentiable at x =0

(d) None of the above

P-AQNA-L-ZNGU/66A :
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(@) 2a2 =9bc
(b) 2b? = 9qc
c) 2¢? =9ab

{d) None of the above

59. Consider the following with regard to

a relation R on a set of real
numbers defined by xRy if and
only if 3x+4y=5:

1. ORI
2. 1rRL
2

3. 2R3
34

Which of the above are correct?
faj 1 and 2 only
(b) 1 and 3 only
{c¢) 2 and 3 only

(d) 1,2 and 3

60. The function

flx) = ksinx+%sin3x

has maximum value at x = % What

is the value of k?

(@) 3

(b)

W] G|

(c)
@ —

B | b=

58. What is the condition that one root of. C
the equation ax? +bx+c= 0, a#0
should be double the other?




g ss. logla+Va? +1}+log(

1
—_— | Wl
a+a? +1}

T w4 RY
(a} 1
(o) ©

(c) 2

(d)

b ] =

56. 10 gt & & # | 5 Tw N A1 S
7fe u fordiy s 1 wda g | gIE
& all it gem m R o ww T
T H A g W A TR | g
% aft i w@m o 2, @ Fafafea 7 @
-9 Th GE 27

(&) m>n
() m=n
fc) m=n-1

{d m=n-2

57. ®ad f(x) =|x|+ x? & fqum § f=ffia
A | HH-91 T T o7

{a) x =0 f(x)@ad Td 2
() x=0W f(x) ATHTHT 2

() x=0 W f(x) ®<a 8, &g
FFHIE TE §

(@) 3w H QB 3
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60. &cA f{x):ksinx+%sin3x k0

1
1

!

58. ufiwW ax? +bx+c=0, a# 0 1 Th

T TR G R, 76 sy =0 87
(a) 2a? = 9bc - |

{b) 2b?% = 9ac
(c) 2¢2 =9ab !

(d) 3 & A B T ',

59. mﬁmmaﬁ%wwmqﬁﬁﬁa

& WY R, nya'aaﬂt%romasﬁ;aa
3x+4y=5 & =l 7 fr=fafad
fomm fifsr '

I
1. OR1

i
2. 1R ;
2

3

4 E

I # A FH-A 9 E7 ';.

(@) F@ 13N 2 ;

(b) FIA 1 3R 3 ‘.

(c) Wae 2 3 . 'L
E.
|

3. 2R
3

(d) 1,23R3

!

a&mmx=gm%1 k %1 HH
??
(a)

(b}

w

i
1
I

i

. ]

(c)
(d)

Nl




61, What is J'sin'l(cos x) dx equal to? 64. What is the set of points (x, y]. ‘
satisfying the equations x2 + y2 =4 .
2 _ and x+y=27?
@ X ik
2 2
5 (a) {(21 0]’ (_2l 0)! (0) 2J}
T X
b) —+=—+k
(v] 2 2

(b) {(0, 2), (0, -2}}
() {0, 2), (2, O}}

fd) -2__?+k ' (d) {(2: 0): {_23 0]’ (O, 2)! (Os —2]}

where k is a constant of integratibn.

' 65. Consider the following statements :

62. If ¢ and B are the roots of :the
equation 4x2 +3x+7= 0, then
what is the value of (@2 + 6'2,]?

1. The inverse of a square matrix,
if it exists, is unique.

: 2. If A and B are singular

(a) 47/49 . matrices of order n, then AB
, is also a singular matrix of

{b) 49/47 . order n.

fc) —47/49

' Which of the statements given
(d) -49/47 . above is/are correct?

63. What is the equation of thé line
passing through (2, -3)' and

1 onl
paraliel to yaxis? (a) ony
(@) y=-3 ' (b) 2 only
(b) y=2

(c) Both 1 and 2
fc) x=2
(d} x=-3 ' (d) Neither 1 nor 2
P-AQNA-L-ZNGU/66A . 22




@ 61. Jsin"l(cosx)dxwmiﬂl'[%?

JC2

xn
a) —-—+k
@ - -

2
) Z+X 4k
bl 33

n X
d —-—+k
@ =-=

& k U GHTREH 31T B

62. aft wiww 4x2 +3x+7=0 F ¥qA

o B E A (@2 +p"2) & AR F
27

(a) 47/49
(b) 49/47
() —47/49

(d) -49/47

63. (2, -3) ¥ TFA 4l R y-31g H

TR Y@ 1 g a7 87
(@) y=-3
(b} y=2
fc) x=2

{d] x=-3
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65. Fr=tafan oAl w feEr ffk .

64. WHFW x2 + y? =4 M x+y=2 @l

e w0 9 fagat (x, yamagau
187

(a) {(2, OJs (_2: 0)- (O’ 2}} !

) {(0, 2), (0, -2} .

(c) {(0, 2), (2, O)} !

[
b

(d {(2, 0), 2, 0), (0, 2), (0, -2)}

1. T i g W gekd, dfe (@8
foerm 8, @ aficdia 2 |
2. IR AR B, nHE &

aoE %, @ AB R n R @ !

AV TR B

ITYH HYA | A RA-w1/Q TR /R
(a) l%ﬁl

(b) & 2 |
(c) 13 2aH

(d) a1 MmId2




66. What is the angle between the
lines whose direction cosines
are proportional to (2, 3,4) and
(1, -2, 1) respectively?

{a) 90° '
(b) 60°
{c/] 45°
(d) 30°
|
67. What is the value of k for which

the following function f(x) is
continuous for all x? !

w for x#1
flx)= (x - 1}2 i
k for x=1
(@) 3 ‘
(b} 2 '
(c) 1
{d -1

)

68. If p, q, r are rational numbers, then
the roots of the equation

x2 ~2px+ pQ -q2 +2qr-1'2 =0
I

are

{a) complex

(b) pure imaginary
{(c} irrational

(d} rational

P-AQNA-L-ZNGU/66A
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69. If A={1, 2, 5 6} and B={1,2, 3), @

then what is
equal to?

(Ax B)n(Bx A)

(@ {(, 1), (2, 1), (6, 1), (3, 2)}
) {(1, 1), (1, 2), (2, 1), (2, 2)}
() {(1, 1), (2, 2)}

d {{1, 1), (1, 2), (2, 5), (2, 6)}

70. What is the differential equation of
all parabolas whose axes are
parallel to y-axis?

d3y
@ 53 =0

(b} —=c¢

@ 5=

(d —==c¢

where ¢ is a constant.




@ s f x@nit f R (2, 3,4) 3
(1,-2, 1) % FAN: FAEARE €, I
9 &1 T R Y
(@) 90°
b) 60°
c) 45°

(d) 30°

67. k &1 98 U w1 ¢, fomd fan Fafafaa

G f(x), x % it vt % foe owaa &7

)= %—;3, x#1 & foQ
k » x=1 % forg

(@) 3

b) 2

€ 1

d -1

68. AR p, g, r AT T &, A T
x? -2px + p? - g* +2gr-r? =0

& g

(a) affsy &

(b) e IR
(c) Ui g

(d) e @
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69. Il A=1{1, 2, 5, 6}3M B= {12 3)
?h(AxB)n(BxA)%a%\sanav%?

I
!

@ {(1,1), (2, 1), (6 1), (3,'l 2)}
|
) {(1, 1), (1, 2), 2, 1}, 2,/2)}

(@ {(1, 1), (1, 2), (2, 5), (2,'6) }

|

|
70. BE Waed w1 3y y-AG F FARK D,
@H&ﬁwﬁmmm@

27

€ {1, 1), (2, 2}}

() S =

€ 5=

G‘Iﬁc@ﬁm%l '.

[P.T.

_,.0




For the next five (5) items that follow :

The students of a class are offered three
languages (Hindi, English and French). '
15 students learn all the three languages '
whereas 28 students do not learn any
language. The number of students learning .
Hindi and English but not French is twice
the number of students learning Hindi and |
French but not English. The number of
students learning English and French
but not Hindi is thrice the number of
students learning Hindi and French but'
not English. 23 students learn only Hindi
and 17 students learn only English. The
total number of students learning French
is 46 and the total number of students
learning only French is 11,

71. How many students learn precisely
two languages?

(@) 55

(b} 40
(c) 30

(d 13

72. How many students learn at least
two languages?

(a) 15 .'
(b} 30 .'
fc) 45

(d) 55 '
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strength of the .

73. What is the total
class?

{a) 124

(b) 100

{c) 96

(d) 66

74. How many students learn English
and French?

{a) 30

{b) 43

(c) 45

(d) 73

75. How many students learn at least

one language?

{a) 45

(b) 51

(c) 96

(d} None of the above




@
@ s v (8) i ¥ R
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@ w4 F BE B o o (R, msh ek
=) & st B 15 3@ @it @ v des §
sEfE 28 o S5 Wi 7€ Had) B ol st
dr@ fg %9 7 diEn 9t 9Tl A F@n A S
I gem 4 o A o B diea € g
3l w8 e ofish o F= died feg Rl T
i 3 BrEl A g@n 31 wEl f e | dF
TH ¢ s R oiv S dhea § e ol &
H@di 23 B Had &<t draa 2 R 17 B3
Fad 30| = fien I Bl il T TE& 46
% 3l Foe B9 dEn 9t sEl Al FA FEw 11
21

71. R o i @ @ wnd Hraa €7
{a) 55
(b) 40
{c) 30

(@ 13

72. TFad om H0-2-F0 Q@ v e €7
(@ 15
(b) 30
(c) 45

(d) 55
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73. mmiﬁﬁgﬁ-ﬁ@rﬁﬁfﬁﬁ?z-r !

{a} 124

(b) 100

o = ———— =

{c)] 96

(d) 66

74. f5a o@ il ot = e 87

e e ———— - -

(@) 30

_ - - —

(b) 43 |

{c) 45

@ 73 o

75. mﬁww-ﬁ-m@wm@%?? |
'.

(@) 45 1

{

1

(b) 51 '

) 96 !

(d) I T | A T !




76. If

a
- |4 n
I, = ‘0 tan™ xdx
then what is I, +1, _, equal to?

@ 1/n '
(b) 1/(n-1j
(¢ n/in-1)

{d 1/(n-2) :

77. What is the equation of the line '
joining the origin with the point of ,
intersection of the lines 4x + 3y =12
and 3x+4y=12?

fag x+y=1 '
b)) x-y=1
fcj 3y=4x
d x=y

78. If the sum of the squares of the
distances of the point (x, y) from
the points (a, 0) and (-a, 0) is 2b2,

then which one of the following
is correct? '

2402 =p? 4 2 ,

{a) x
{b) x2+a2=2b2—-y2 '

{(c) x?-a?=p?+ y2

(d) x?+a?=p?-y2 ’
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79. If f(x}=2%, then what is f’'(x)
equal to?

fa) 2*(In2)?
(b)  x(x -1)2%"2
{C) 2x+1(1n2]

(d) 2%(log;q2)?

80. In an examination, there are 3
multiple-choice questions and each
question has 4 choices. If a student
randomly selects an answer for all
the three questions, what is the
probability that the student will not
answer all the three questions
correctly?

(a) 1/64
(b) 63/64
€) 1/12

(d 11/12

81. What is the geometric mean of the
data 2, 4, 8, 16, 32 ?

(a) 2
(b) 4
fc) 8

(d) 16




|
|

79. 3R f(x) = 2%, a‘rf“(x)ﬁmé:am%?

I, = ‘r‘:tan“ x dx ' ‘
=l . {a) 2%(in2)2 -,
@I, +1,_, FrEd aua @7 |

(b) x{x-1)2*"2" .

(@ 1/n !

2.'C'l-ll 2 T

) 1/(a-1) @ 2% n3 t

[

(c) n/in-1) (d) 2*(log;q2)? i

. [d) 1/{n-2)
'80. T wlan #, sagﬁmmﬁaﬁtuﬁm

77. Al & Wil 4x+3y=12 3R wﬁ4ﬁm§|q&@wm§ﬁ§;ﬁ
3x+4y=12 ¥ Wiz fag & frem wﬁmﬂ?ﬁ'—luﬁ%%qum
areft Y w1 aefE w R? Wﬁ,ﬁs&ﬁmmﬁm%%ﬂ%

maﬁ?ﬂﬂmﬁwaﬁmﬂiﬁ%m?

(aj x+y=1 | 1
B) x-y=1 (a) 1/64 '\

() 3y=4x (b) 63/64 '; |
!

(@) x=y € 1/12 o
d) 11/12 '

78. AR fagait (@, 0) 3R (-q, 0) ¥ fig @ 1l | !
(x, y) S gt & Tt F1 A 2p2 g, ' '. o
Fre=fafaa - I

AR 81. =3l 2, 4, 8, 16, szargufrmmw

(a) x2+a2=b2+y2 ERId _

I
2

(b) x2 +a? =2p2 - y? @ :
(b) 4

{c) x2—a2=b2+y2 ll

(c 8 \

d) x?+a?=b?-y? (@ 16 | |
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82. What is the cumulative frequency
curve of statistical data commonly
called?

{a) Cartogram
(b} Histogram
{cj Ogive

{d) Pictogram

83. If Aand Bare two mutually exclusive
events, then what is P(AB) equal
to?

fa) O
(b) P(A)+ P(B)
(c) P{A) P(B)

(d} P(A)P(B|A)

84. If x =sinB®+cosb and y=sinB.cosH,
then what is the value of

x*-4x2y-2x2 +4y? +4y+17?

{a 0
(b) 1
() 2

(d) None of the above

P-AQNA-L-ZNGU/66A

85. What is

lim Wa2x2 +ax+1-vax2 +1)

X0

equal to?

\ {a)

B ] =

(b) 1
c) 2
(d) O

86. What is

dx

Jsin\/}
Jx

equal to?

cos \/;

{a) 7

+C

(b) 2cosJx +c

—'COS& +o

. (c) 3
{d) -2cosx +¢

where cis a constant of integration.
!

: 87. Which one of the following is the
, unit vector perpendicular to the
vectors 4i +2J and -3{ +27 ?

30




[ . . L '
82. WiferHa i & Hoefi arwramal o6 85. lim (Va?x2 +ax+1-va2x? +1)
THTIA: 1 Hgd o7 xyeo ;
: forass ot 87 .
{a) HIEH {a) 1 il
2 .
(b} Teum b 1 ‘ \
|
(c) MR (c) 2 |
(@) FEdmm (@) 0 I} :
86. ISii}_ﬁdxmm%? ;
83. 3R A it B TwR s wend &, @ x |
P(AB) fres s 27 @ cosVX ‘ |
2 ‘ I
fa) O |
(b) 2cosx +c ll
(b) P(A)+P(B |
(c} P(A) P(B)

(d) —2cosJx +c
(d) P(A}P(B]|A)

{
&l ¢ T GHIFT T B 1
|

-1,
84. Al x =sinb +cos B 3R y =sin®.cosH, 87. m # Q@ FA-m T, 41+|_2J |3ﬂ-{
A x% —4x2y-2x2 +4y2 +4y+ 1 F -3 + 2] Afewl W &7 g8 afey 87,
qH 1 87 4] P
{a} _"2_' il |
(@) O . A , |
(b) —= |
¥ |
(b) 1 ‘
(€ k ’_
fc) 2 \
) i+j+k
(d) I & } A 73
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88. Consider the following statements in
respect of the vectors

U =(1,2 3), uy=(2, 3, 1),
Uy =(1, 3, 2) and U, =(4, 6, 2)

1. 4 is parallel to U,

2. U, is parallel to u, '
3. U, is parallel to U, '
Which of the statements given '

above is/are correct?

(a) 1 only
(b} 2
(c) 3 omnly

(d) 1and 3

|

| 89. The line mx + ny =1 passes through
‘ the points (1, 2) and (2, 1). What is
| the value of m?

(@) 1 ’

(b) 3

()

| R

(d)

Wl

90. What is the solution set for the’
equation x% -26x%+25=07? '

faj {-5, -1, 1, 5} ,

(b) {-35, -1}

(c)
(@ {-5, 0,1, 5}

{1, 5}
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“hypotenuse
“perpendicular (BD) drawn to it from the
' opposite vertex and AD < DC.

'For the next four (4) items that follow :

,ABC is a triangle right angled at B. The

(AC) is four times the

91, What is one of the acute angles of the
triangle?

() 15°
(b) 30°

fc) 45°

(d) None of the above

92. What is angle ABD?
{a) 15°
{b) 30°

(c) 45°

(d) None of the above

93. What is AD: DC equal to?
(@) (7-2J3): 1
(b) (7-4/3):1

1

(c) 12

{d) None of the above




f
|

o
@ 88. afewt = =(1, 2, 3), ©, =(2, 3, 1),

37T AR (4) wEAE I \,
U3 =(1, 3, 2) 3 U, =(4, 6 2) F :
fire § frferfes word m RRm AR ABC T B aieh s By #1 gt (4C)
L2 2% 5| mmﬁqﬂawﬂaﬁrﬁaﬁ(so}aﬂwgm
At % 3 AD < DC.
2. Uy, Uy & TR B _
3. Wy, Us * wHF R '
I woA § @ WA-w/R T /A 91, Prye % =@ Foi § A T -4 87
fa) a1 (@ 15° _ -': :
{c) Faa 3 :
(c) 45°
(d) 133 o
(d) 30w & & w7 .

89. @l mx +ny=1Tfaga (1, 2) 3 (2, 1) |
F IR A1 m T A Y 92. F ABD T &7 |

(@ 1 |
b 3 (a) 15° :
1 (b) 30° !

(c) 5
fc) 45° :
1 . \
@ 3 (d) I9gH T | B T 'l

90. i x* -26x2+25=0 ® Ta- 93. AD: DC frms sueR 37

%

|

Y= 1 27 ‘ 11

(@ (7-2J3):1 !

@ {-5, -1, 1, 5) I

b (-5, —1) (b) (7-4v3): 1 [
¢} {1, 5} (¢ 1:2
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94. What is tan(4 - C) equal to ? ' 97. If, in general, the value of sinA is @@ -
' known, but the value of A is not

{a) 0 = known, then how many values of
: tan(A /2) can be calculated ?

b} 1 : @ 1

(c) 2 | (b 2

(d) None of the above fc) 3
| (d) 4

95, What is the radius of the sphere.

x*+y?+2%2 - x-y-2=07? ' 98. Consider the following :
] _ 2 T[ -
1. cosec”lf-Z)=-2
3 - ( V3 ] 3
(a) ry
' 2 SCC_I (._2_.) = E .
' ' J3 6
1 \
(b) ‘]; Which of the above is/are correct?
: {a) 1 only
{c] E ' (b) 2 only

{c) Both 1 and 2
(d)

Wl

r (d) Neither 1 nor 2

99. Consider the following statements
with regard to correlation coeflicient r
between random variables x and y:

96. An experiment consists of flippingra
coin and then flipping it a second
time if head occurs. If a tail occurs
on the first flip, then a six-faced die

1. r=+1or -1 means there is a
linear relation between x and y.

is tossed once. Assuming that the 2. -1<r<1landr? is a measure
outcomes are equally likely, what'is of the linear relationship
the probability of getting one head between the variables.
and one tail? ' Which of the statements given
- ' above is/are correct?
(@) 1/4 .
{fa) 1 only

(b) 1/36 '

‘ {b) 2 only
fc) 1/6 = (c) Both 1 and 2
d 1/8 (d} Neither 1 nor 2
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|
I

o
@ 94, tan(a- C) fruk T ¥7 97. zrl%ammsmAaﬂmW% fog

A ® O T8 HEE 2, ‘cﬁitan[A/Q %
(@) O . ﬁmﬁmq&zﬁmﬁm{mm%?
) 1 (@) 1
c) 2 (b} 2
(@) T & | ¢ 7 (@ 3 ]
(d 4 '-
95. T x2+y2+22-x—y-z=0 $ 98. fimfifad w faw £fw - |I
1. (:osec‘l(—~——)=—-TE
3 J3 3 |
(a) J: }
4 | 2 sr.ec'l(i)=E :
1 |
CIRE g 1 2 /R /8
(a) *ad 1 '
|
(c) E (b) e 2 t
© 13M2aF |
(d) % (d Ad 1M 2

l
|
99, IRfs® W x 3N y F v ‘TEEEEY

96. TF W TH Ry F IR #, 3K W Wr%ﬂ?‘fﬁﬁﬁ%ﬁé’ﬁ'mm
g aman 2, @) I wF aw fx o = forame ifSre - o
21 gft Tet IBTeM # YT T B, W T 1. r=+1 3¥&@ -1 # wf%%
e e AT I UF AR GH @ 1 AE x 3 y & o o W way
T g wft afom R weE E, 2. -l1<r<1 3 /2 @ si& 9=
T I 3 TF g5 TH H F Wi W= gramy *1 7w ‘.
? |
¥ IR Tl # @ F-w/Q wd /R
(a) 1/4 (@) ¥4 1 .
(b) 1/36 (b) Fa 2 1
fe) 1/6 (c) 1 3R 23 ’,
(@) 1/8 (d) j?hlaﬂtqﬁfz ’,
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100. If the values of a set are measured
in ¢m, what will be the unit of
variance?

{a) cm

(b) cm?

fc) em?

{d}] No unit

101. A box contains 6 distinct dolls.
From this box, three dolis are
randomly selected one by one
with replacement. What is the
probability of selecting 3 distinct
dolls?

(a) 5/54

(b) 12/25
) 1720

(d 5/9

102. For the equation

ax? + by? +2hxy+2gx + 2fy+c=0

where a# 0, to represent a circle, '

the condition will be

a=band ¢c=0

(a)
() f=gand h=0
fco a=band h=0

{d} f=gandc=0

P-AQNA-L-ZNGU/66A
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events such that
P(B)=0-8 and

103. If A and B are

' P(AUB)=0-5,
P(A| B) = 0-4, then what is P(An B)
equal to?

(a) 0-08

(b) 0.02

() 0-8

(dj 0.2

104. Consider the following relations
among the angles a, f§, ¥ made by a
vector with the coordinate axes :

1. cos2a +cos2B +cos2y = -1

2

2. sinoa+sin?B+sin?y=1

Which of the above is/are correct?

{aj 1 only
{b) 2 only
{c/ Both 1 and 2

(d} Neither 1 nor 2

105. Which one of the following points lies
on the plane 2x + 3y—-6z=217

(@ 3, 2,2

(b) (3,7, 1)

(¢ (1,2, 3)

(d) (2,1, -1}




%
: 100. 7f¢ frlt Tg=/" &% 79 cm # 7@ W@ §,
@ Aot it 5S4 Sefie

{a) cm
(b) cm?

¢/ em¥

(@) & TS

101. TF 835 & 6 B il &1 @ w55 @
il TRgowaw -uE W
QAR o |y =94iid it 9 21 3 fm
Tfet & s ) F wREa 27
(@) 5/54

(b) 12/25
¢ 1/20

(d) S5/9

102. wiflFw
ax? + by? + 2hxy+2gx +2fy+c=0

Sl a# 0, W 9 F FEka ®, TEH
- wiesy =0 e

fa) a=b3Me=0
() f=g3Mh=0
() a=b3Mh=0

{d f=g3Mc=0
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1m.%ﬁaﬁmmﬁ§ma¢&ﬁﬁm%ﬁ

103.aﬁAaﬁtBuz:nﬁ3Hm§:4ﬁﬁ

PAUuB)=0-5  P(B)=0-8 3R
P(A|B)=0-4, @ PAnB) f&aF
T 87 _

a) 0-08
(b) 0-02
) 0.8

(d) 0.2

.y

Fit a, B, y F A9 Prferfan el @
firem R |

1. cosm+0032|3+00827=—1|
2

2. sin®a+sin?P+sin?y=1
g & & FR-T/ wd R/E7

(@) ¥4 1

(b) F=E 2

(c) 1 3R 22H

(d) 3a 13T 2

I
I
|
d
|
|

ll

105. Prsfiifin frgalt 3 @ wh-a1 T, zlmaa

2x +3y— 6z =21 W &7
|
(@) 3,2, 2)

() 3,7, 1)

(c) (1, 2, 3)

(@ (2,1, -1)

(P.T.0.




106. What is the acute angle between
the ©planes x+y+2z=3 and
-2x+y-z=117?

(@) n/5
(o) n/4
{c) n/6

(d) m/3

107. What is the area bounded by the
curves y=e*, y=e* and the
straight line x =17

{a} [e + E] square units
e/
{(b) [e - —-) square units
{c) (e +—= QJ square units

{d) |e-—- 2) square units

108. What are the points of intersection of
=1 with its
conjugate axis? |

the curve -4!».:'c2-—9y2

(@) (1/2, 0) and (-1/2, 0}

(b) (0, 2) and (0, -2)

fc/ (0, 3) and {0, -3)

()

No such points exist
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109. What is the locus of a point which .

moves  equidistant from  the

coordinate axes?

{fa) xty=0
(b) x+-2y=0
(c) 2x+y=0

(d) None of the above

110. What is
1
e*|Vx + —= ldx
[ 572)
equal to?

{a) xe* +c
(b) e*(Wx)+c
(c) 2e*(Wx)+c

{d) 2xe* +c

where cis a constant of integration.

111. Let p, g, r, s be respectively the
magnitudes of the vectors 35—2}',

20+2j+k, 4i-j+k, 2i+2j+3k
Which one of the following is
correct?

{a} r>s>g>p
(b) s>r>p>g
(c)

r>s>p>gq

(d s>r>qg>p




.. 106, @°aal

X+y+22=33R 2x+y-z=11
& d1e <RI 4 87

(@ n/S

(b) m/4

) mn/6

(d n/3

107. T y=e*, y=e * 3 Wl x = 1
¥ forqr gom ket 1 R7

(a) (e+ )aﬁsimé

) e~§ja1fw§

108. TF 4x2 -9y? = 1 ¥ 3@% Gyl W @
whrede firg = ¥7

(@) (1/2, 0) 3 (-1/2, 0)
(b) (0, 2) 3 (0, -2)
{c) (0, 3) 3 (0, -3)
(d) &= fomg e 2
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109. v et & wam gft W went A g

% Torguer o 37
@) xty=0

(b) x+2y=0
() 2x+y=0

(d) S9ed AR

d

110. [e* (J_+————Jd.xﬁﬂﬁim%?

"
{a) xe* +c¢
() e*(Wx)+c

(¢) 2e*Wx)+c

e

(d) 2xe* +c

el ¢ U e SRR |
|

111. @ &g fe wfewt 37 - 27, 2[+2;+k

4t - j+ K, 2;+21+3k%qﬁmwm
pmarsE ﬁﬁﬂ%ﬁ@aﬁ%ﬁq-m
T 87 \

|

1

fa) r>s>qg>p !
]

(b) s>r>p>q '

f
fc) r>s>p>gq v

(d s>r>g>p

[P:T. O.




112. In a triangle ABC, if c=2, A= 120",
a =46, then what is C equal to?

fa)  30°
(b) 45°
(c) 60°

(d) 75°

113.
Class Interval| 1-5 | 6-10 |11-15[16-20
Frequency 3 7 6 5
Consider the following statements
in respect of the above frequency
distribution :
1. The median is contained in the
modal class.
2. The distribution is bell-shaped.
Which of the above statements
is/are correct?
{a) 1 only
{b) 2 only
{c; Both 1 and 2
{d) Neither 1 nor 2
P-AQNA-L-ZNGU/66A © 40

Foi‘ the next two (2) items that follow : a

The following table gives the continuous
frequency distribution of a continuous
variable X :

Class Interval | 0-10 | 10-20)20-30] 30-40 | 40-50

Frequency 5 10 20 5 10

114, What is the median of the above
frequency distribution?

(@) 23
(b) 24
) 25

(d) 26

115. What is the mean of the above
frequency distribution?

(a) 25
(b) 26
(c) 27

(d 28




()‘ 112, @ ABC H, 3’ c=2, A=120°

113.

a =6, @ C fFaF st 27

{aj 30°

(b) 45°

c) 60°

(d} 75°

aﬁm 1-5 6-10 | 11-15]16-20

I 2 T TmEwa @ ¥ faww #
frafafga Fut w fa=m i

1. wifthe sgahg =i 7

2. aizqm%x.

g et A 4 /w8
(a) e 1

(b) W 2

c) 1 3fx 2 <=l

(d) A 1amAA2
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3R & (2) T &

}

i
!
1

ﬁmﬁ%rﬁaammﬁﬁm’rwmxmw

ARFERAT 527 & 2

ot araErer | 0-10

10-20

20-30

30+40 | 40-50

HAREETET S

10

20

5 _10

114. mﬁ&n&ammmﬁmﬁiﬁrw

27

{a) 23

(b) 24

fc} 25

(d) 26

3
*.
\
115. mﬁﬁnﬁmmmmmg?
L
|

(a) 25

(b) 26

{c) 27

(d) 28

%.

[l

L
1
1

[P.T.O.




116. If the matrix

T ..
z=1+cos—+isin—
5 )

2-x 1 1
A= 1 3-x 0 !
-1 -3 -x
! then what is |{z| equal to?
is singular, then what is the
solution set S? :"
; n
@ S={0, 2, 3} r fa} 2cosC
(b) S={-1, 2, 3} _ ,’
! T
{C} S= {11 2! 3} r.' (b) 2811"13
(d) S={2, 3} :
: {c) 2c0s
117. What is the range of ." 10
f(x) =cos2x -sin2x? ,"
| . n
’ d) 2sin—
(@) [2, 4] : (d) 5
() (-1, 1] o
r
fc} [—Jis ﬁ] rl
(@) (-2, ¥2) :'
i
118. What is the solution of the 120. If xi+yj+zk is a unit vector and
differential equation ' x:1y:iz= J3:2: 3, then what is the
' value of z?
-y '
ay , |1 y2 =07 ! 3
dc Y1-x : (@) =
, 16
(a) sin"!y+sintx=c ,’
rI 3
(b) sinly-sin"lx=c ' (v)
:
(¢) 2sin"'y+sin"tx=c ! (c) 3
. 4
(d) 2sin"ly-sin!x=c ,‘
(d) 2

where ¢ is a constant.
]
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.\ 116. I AT=qe

‘ 119. 3R .
2-x 1 ! z=14cos= +isins | '
A=| 1 3-x 0 S S
-1 -3 -x '
A |z| e s 22 |
HegahAUE B, O TO-A0=I8 ST 87 | !
I
(a) S={0, 2’ 3} (a} QCOS*E il »
() S={-1, 2, 3} 1|
|
S={1, 2, 3 "
(e ¢ } () 2sinZ :
(d) S={2, 3} 5 'ﬂl
|
{
117. f(x) =cos2x —sin2x &1 qUE F1 g7 (c) 2cos -~ ' ;
1 '1
fa) {2, 4) b
) -1 1] n |
d) 2sin—— '
© [-V2, V3 @ 2= |
@ (3 ¥3) B
|
118, e R i
9y, 1‘9‘2=o 120. 7R xi+yj+zk T S wRw ¥ i,
dx Y1-x x:y:z=ﬁ:2:3,?ﬁzﬁwwg?
&1 &6 W1 87 |
@ = ’
@ sin"!'y+sin'x=c¢ 16

|
I
l
1 1 "
(b) sin"'y-sin"'x=c¢

@) 3 ,
I
fc) 2sin"!y+sinlx=c !
@ 2 '

4
(d) 2sin"!y-sin"lx=c ,
I

TRl ¢ T I B : (d 2
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SPACE FOR ROUGH WORK
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T A TR TR T YRR TER H A HE WY @ a6 7 e

CAR: 1R P P-Ag%!’fg?jGU ' ireror E\'ﬁmﬂ HAHH
U HEIT |
e gt A
LG
o ;3 wod ek e | QUi : 300
FFgIw

1. Then YW § S T TG, mmuﬂmgﬁmzﬁmmmﬁ%gﬁaﬁéﬁmﬁm w2l
a0 T 3o UE Swan WA itk 7 91 AR @ @, A 3@ v wherwr giwen @ sew il

2. IW-UAE # WE T W wlien gt s A, B, Cmnmﬁmwﬁwﬂm|

3. @ whaw R ® w4 Ry M s A AR A
srgni e R whaw gfemm w stk 3o T )

|
|
’
‘ 4.mw&mgﬁaﬁlﬁ120m(m)ﬁqmﬁimmi%ﬁsﬂtaﬁvﬁﬁw%luﬁmmﬁm
| g (I) R g ¥ E@E B uF TG B G A, R a9 F-ITF W AT FHEN AEd &1 AR 200 |
o B @ e T £, a‘rmmﬁaﬁmﬁsﬁmaﬁmaﬂimm%mm

T W g 2

5. U AT Wit S o & R g ae-wrE wod ik R § sw-ws # Ru e w2

6. @ff T F 3 A B

7.wﬁw3ﬁﬁmqﬁmg@m#ﬁ&auwﬁ%wgmm-mmaﬁmmgsﬁ IR S

TO-TR % @y W FPR % SgEr 3o faaw Iw-mmE 8 A g

8. muﬁmﬁwﬁﬁmmﬁuﬁ%mmqﬂm%ﬁwm%ﬁﬁmmmﬁmﬁaﬁﬁn%t
A 39 Wy vl gl o IR 6 et 2 ,

9, wa FW ¥ g v wigu yfae & ora § dom 3 ,r.

10. e I9d % form Tvs . .

| TgfiE wy-TEt # Ioftear sra Ry e aew swd % forg gue R smom !

' [1)ﬁmm%hw%@mmﬁlmﬂmmw%%ﬂﬁqﬂq@mm%mw%@
| figa fru M ot = ww-fawd (0:°33) e F FW A wwRT SN
(if) aR =+ Infiean o | afF I 3@ 2, d §@ T I AT S, wﬂﬁqwaﬁﬁﬁ%mmmﬁ
o 2, fi ft 38 v F R degEn @ S @@ w1 ogve fen smem
{m]uﬁanﬁammﬁémgaqﬁﬁﬁmm%ammmmqﬁﬁmm% awm%s%m
wtg gus TE R smen

He A Ut TR T GRERET G ® T ®E WY a9 7% T @

Note : English version of the instructions is printed on the front cover of this Booklet.
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